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(2)

50

95

70




28

©) (E)
(A) (B) (A)-(B) (D) (C)=(D) (A)-(E)
H27 13,664 11,355 2,309 0.1 235 13,429
H28 13,681 11,882 1,799 0.3 534 299 13,147
H29 13,681 11,882 1,799 0.5 900 366 12,781
H30 13,681 11,882 1,799 0.7 1,259 359 12,422
H31 13,681 11,882 1,799 0.9 1,619 360 12,062
H32 13,681 11,882 1,799 1.0 1,799 180 11,882
H27 28 )
32 63.5
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P.16
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H23.5.30
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(1161)

(1162)

(1165)

(1167)

(1166)
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(1163)

(1164)
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H28.9.27
H29 2016/09/27 o o
H29 2016/10/06 o o
H29 2016/10/31 o
H28 12 H28.10 o o
H28 12 H28.11 o
H28 12 H28.11 o o
H28 12 H28.11 o o
H29 H28.11 o o
H29 1 H28.11 o o
viz2 H28.11
H28 H28.12 o
vi2 H28.12
H28 H28.12 o
viz2 H28.12
H29 2 H28.12 o o
H29 H29.1 o
H28 3 H29.1 o
H29 H29.1 o
H29 H29.1 o
H29 H29.1 o o
H29 H29.1 o
H28 3 H29.2 o
H28 3 H29.2 o o
H28 3 H29.2 o o

29
2 2
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150

400

1,400

90

130

1,000

600

130
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350ml
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8,640

15,120
23,220
2.484 12
3,240 10
H27.1.1
9,789
1,118
10,527
1,205
1,244
9,789
1,057
9,930
1,330
1,118
1,509
H28
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